IRAT A AR 25 0 E@g

545 3 FHIBET | B E
5. M3 . M4. M5. M6

o NAMSKIIE M SKER
T

o DIRAMMHH. W
%8 LID

RS AUE it A SR A7 i S 0 Ll it BB o FRATTA 7
ZAged TR, SEOL5 90 i AT A R & e 75 ST
& IR A%

RS —M https://uk.rs-online.com/ 4 S& 77 i T4 3 0f 4.14



RET AIE AR E A

Gy =

REHIRS RS Pro dh SR BEHI LN AT IE SR RET BAT /N A SRS AN AR AN R T . 45 ) IR4T {3
allan BONMRTATE . FRADE M T ok Z a8 SN R B R RN /N A Sk IRAT BAT N
MERMETIWERN SRR Zn] R BECNE . A F A AR AR S f g .

iz

URAT / WEME KRR
SLEFAR

e i)
BN

VA

DB

545

] SR ET

NAEEL

NAERE

m3. M4. M5. M6 4T

R B B BB, sy
ELORAMENT. K NRE. PARREHIEAY

WRET | R
RGN

Rk

AFERRE

= Jil}
WRAT 1 BRI
RET /IR KR

6mm £ 25mm
M3, M4, M5, M6
AN

A2 316

25mm

6mm

RS —M https://uk.rs-online.com/ 14 3% 7= i

1% 3 of 4.24



WEAT IR £ 0 a@g

RS —M https://uk.rs-online.com/ 4 S& 77 i A3 of 4.34



R AR b = A ‘EI

M6 x 20 M6 x 12 M6 x 16 M6 x 25
25 off 25 off 25 off 25 off
M5 x 12 M5 x 16 M5 x 25 M5 x 20
30 off 30 off 30 off 30 off
M4 x 20 M4 x 12
50 off 75 off
M3 x 6 M3 x 8 M3 x 12 M4 x 8
50 off 50 off 50 off 50 off
Kit Contents
Th d
s:z: L (mm) aty L (mm) Qty L (mm) Qty L (mm) Qty
M3 6 50 8 50 12 50 - -
M4 8 50 12 75 20 50 - -
M5 25 30 12 30 16 30 20 30
M6 12 25 16 25 20 25 25 25

RS —M https://uk.rs-online.com/ I3t UKL 3 of 4.44



	545 件装不锈钢螺钉 / 螺栓套件、 M3 、 M4 、 M5 、 M6

